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print_msg("E=+") — | 4af print_msg(name):
print("QrEstM 277)
[ ]

orint msg("ae") o> print(names"do] Mg Zst=iich.")
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Syntax

D=y
B
st Ol 2 NN &2

s AHE /\—' def get area(radius)
= 3.14*radius

return area
e

e
1A
{ R

n?i

return =&2

k HHEHBHC)

def B20/S {ﬁff,zifﬁ%’ S, WL )




ofa 92
o &
& 4= S & (function call)Ol &t get_area()2t 20| &2 0SS M=
= A0ICH &=t S 5 H &= ot U= 2&8=0l AHEH A
Ol 2UH S =8t |IXIZ2 & =02HC
g4 33014
3| 24} SIOFX]

J'#_ﬂ;ﬂ_,,;e-f‘“""'*' def get_area(radius):

area = 3.14=radius=*2

Y

result = get_area(3)

e \ return area
Y




x = get_area(3)

y = get_area(20)

def get_area(radius):
area = 3.14+radius#**?

return area
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def get_area(radius):
area = 3.14+radius**2
return area

__
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def get_area(radius):
area = 3.14"radius™*2
return area

result = get_area(3)
print("“*5° 39 A= =" result)

291 39 9 %= 28.26
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s def get_area(radius):
TfESiiﬁl = get_area(3) area = 3.14*radius**2
. return area

TR
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def get_area(radius):
area = 3.14*radius**2
return area

result1 = get_area(3)
result2 = get_area(20)

print(""{ 5% 39§ =" result1)
print("“f*15°%1 20° 2121 HA="] result2)
THE° 39 4 "1"1.= 28.26
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def get_input():

return 2, 3

2°12 yL 30I%t

get_input() # Xi

X, Y=
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def sub():
pass
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def get_area(radius):
area = 3.14"radius™*2
return area

O|E{LE|E{ 1} L2120 O|L AN
L o2 L L

ol
=1

result = get_area(3)
print("HIKIEOI 3°||_ %‘l_c_’| nl:l.le=", reSUIt) v
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result = get_area(3)
print(ul:lltﬂgq 3°|I_ gl.l-gl n:'_‘l:"

def get_area(radius):
area = 3.14*radius**2
return area
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def main() :
result1 = get_area(3)
print("“1™5° 39 A2 =" result1)

def get_area(radius):
area = 3.14*radius**2
return area

main() o E|ct




& = get_rect_area(w, h)E & 2loli £ At.

2 OtOl M get_rect_area()E S =l 2 At.
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& Solution:

def main() :
print("20cm "I*t 2721 7 get _area(20)+get_area(20))
print("30cm "I*F 12 ™" get_area(30))

82 TG WL,
# @param radius =°! “t7I3
# @return 121 79
#
def get_area(radius) :
if radius > 0 :
area = 3.14*radius**2
else :
area=0
return area

main()




M2 (barameter)

TR

def get_sum( | start | > -
sum = @
for 1 in range(start, end+1):
sum += i
return sum

I%(argument)

5 K]
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def get sum(start, end):
sum =0
for i in range(start, end+1):
sum += |
return sum

# 14 10° get_sum()® =7 El°F,
x = get sum(1, 10)

# 14 20° get_sum()>! |+t EI°F,
y = get_sum(1, 20);
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def set_radius(radius):
radius = 100
return

r=20
set_radius(r)
print(r)

20




HIO[M O = &r==2] OHOH &
= E Ql=~(default argument)a

def greet(name, msg=""1"112?"):

print("f1 ", name + ',

greet("2")

'+ msg)
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J| ¥ E 2l=(keyword argument)= J|® & Q=
g

AMECZ X EoHA 8= 0 B2 dS0ot= 2 -

def sub(x, y, z):
print(“X:"’ X’ |ly=|l’ y’ "Z=", Z)

>>> sub(10, 20, 30)
x=10y=202z= 30

>>> sub(x=10, y=20, z=30)
x=10y=20 z= 30

>>> sub(10, y=20, z=30)
x=10y= 20 z= 30

>>> sub(x=10, 20, 30)
sub(x=10, 20, 30)
N

SyntaxError: positional argument follows keyword argument
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== printPattern()=
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>>> printPattern(5, "#")
HHHHE
HHHHHE
HHHHE
HHHHE
HHHHHHE
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import random

def printPattern(rows=5, char="#"):
for _in range(rows):
for _in range(5):
print(char, end
print()

printPattern(5, "A")
printPattern(3)




WHOIMOIA= It Q=& ol &

o

Ct.

def varfunc(*args ):
print (args)

pl'int(""f"f'i’l -'IL\QE Egn)
varfunc(10)

pl‘int("°‘|E1 Tl -:LQE Egn)
varfunc(10, 20, 30)

SFLEO| TfoZ 32
A &

(10,)
o= ol 1oz va

(10, 20, 30)
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def add(*numbers) :
sum=0
for n in numbers:
sum =sum +n
return sum

print(add(10, 20))
print(add(10, 20, 30))

30
60
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def myfunc(**kwargs):
result =™
for arg in kwargs.values():
result += arg
return result

print(myfunC(a="Hi!", b="Mr.", C="Kim"))

Hi!Mr.Kim
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>>> alist=[1,2, 3]
>>> print(*alist)
123

>>>alist=[1,2,3]
>>> print(alist)
[1, 2, 3]
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def sum(a, b, c):
print(a + b + C)

alist=[1, 2, 3]
sum(*alist)
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o &t &=(lambda function)= &2 2H & ==0|C}.

lambda ‘%7’{ J %%7/

g0l N e 200
olholct. sl it

# FALFO| BrO|M BEA
00 1L L O
def func1(x):
return x + 10

# E$I:|- Ul:rlgr\
func2 = lambda x : x + 10

result = func1(2)
print(result)
result = func2(2)
print(result)
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func =lambda x,y:x +y

result = func(2, 3)
print(result)

myList=1[1, 2, 3,4, 5,6, 7, 8, 9]
result = map(lambda x: x**2, myList)

#[1,4,9, 16, 25, 36, 49, 64, 81]
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subtask3

Main Task

subtask?

subtask1




# AFTEC] BIAEE AYEOYA O of
def read_list() :

min

def print_list() :

def main()
read_list()
sort_list()
print_list()

main()
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& Solution:

import turtle
t = turtle. Turtle()
t.shape("turtle")

def square(length):
t.down()
foriin range(4):
t.forward(length)
t.left(90)

t.up()

square(100);
t.forward(120)
square(100);
t.forward(120)
square(100);

turtle.done()
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rir

# length

-

| 1

=
10
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r
n

# square() %4+
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& Solution:

def menu() :
print("1. 4™ 25> 2Ev)
print("2. 2% ZE_>A1MI 2Em)
print("3. 3&")
selection = int(input("™+E {42 )
return selection

def ctof(c) :
temp = ¢*9.0/5.0 + 32
return temp

def ftoc(f) :
temp = (-32.0)*5.0/9.0
return temp

def input_f() :
f = float(input("2™ 2=5 °LE°rA2: ™))
return f




Solution:

def input_c() :
¢ = float(input(""™ 255 °\F°H412: )
return c

def main() :
while True:
index = menu()
ifindex ==1:
t = input_c()
t2 = ctof{(t)
print("#" & =" 2, "\n")
elifindex == 2 :
t = input_f()
t2 = ftoc(t)
print("*4™ 25 =", t2, "\n")
else :
break
main()
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[36, 43, 26, 45, 24, 11]




&” Solution:

import random

def getLotto() :
myList = [] # 3t 1% 4]
while len(myList) != 6: # 672 2R AALEL AR Ere
number = random.randint(1, 45) # 15951 45 Are121 tre A4
if number not in myList: # BIAECH 27HTE 428
myList.append(number) # PIAEA LroZ 2
return myList # PIAES BreCrEr

lottoList = getLotto()
print(lottoList)
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gx =100
def func1():
print(gx) # 1% e g S
def func2():
print(gx) # 71 "2 M
func1()
func2()
20 RUHA M= Hae 22 180 HUALE AFEE == UL Ol et
dA Ha= L2 0| e =

AL
=5 M H(global variable)2t) §tCH.
OF, HI=0oH Al =XHStCH.
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gx =100

def fgnc"1 (): ) 84 ofoflA BfAcy 1}0
print("func1() :", gx) x-|x£u|-ulq_ AHEE | u:|_¢-||-

MM E|CE

def func2() : e
gx = 200 44 O1IM 7o B8 0y T MIMEIEL
print("func2() :", gx) # ™9+ gxE MO

myfunc1()

myfunc2()

print("2¥: ", gx)

func1() : 100
func2() : 200
2%- 100




ot OFoA|

B A B {7
L LoO

oy gx = 200 gx = 100
print("funcl() ", gx) i T
print("func2() :",

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ex) :
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gx = 100

def func1() :
print("func1() :", gx)

def func2() :
global gx
gx = 200
print("func2() :", gx)

myfunc1()
myfunc2()

print("2%: ", gx)

func1() : 100
func2() : 200
22200
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&” Solution:

import turtle

t = turtle. Turtle()
t.shape("turtle")
t.speed(0)

def f(x):
return x**2+1

for x in range(150):
t.goto(x, int(0.01*f(x)))

turtle.done()
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